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cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced
immediately by a correct booklet from the
invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given.

4. Read instructions given inside carefully.

5. One page is attached for Rough Work at the end of the
booklet before the Evaluation Sheet.

6. If you write your Name, Roll Number, Phone Number or
put any mark on any part of the Answer Sheet, except
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Note : This paper is of two hundred (200) marks containing four (4) sections. Candidates
are required to attempt the questions contained in these sections according to the
detailed instructions given therein.

AT : T8 UIATS S AT (200) 3iehi 1 & UE THH R (4) TE & | ] il T GHIEd U % SR
31T T58 T Tarega FSetl o STAR ST e |
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e

SECTION -1
Tgug -1

This section consists of two essay type questions of twenty (20) marks each, to be
answered in about five hundred (500) words each. (2 x 20 = 40 marks)

T We | S9-alid 37 * gt Fareres UeE € | Uesh 1 SR AT Ui |t (500) Ik 7
3TTRA & | (2 % 20 = 40 )

‘The Rising Pyramid of Bureaucrats is a serious challenge to democracy.” Evaluate

the relevance of Weberian model of Bureaucracy in the context of developing
societies.

“TRITMTET T Sl SR (T RIS ISt & fou Uk 71k @er1 87 | 9eR g wfaaniea
IR o HISe hl AR h1 Toaieh foehTasiiel TuTsi o 98y | Sifsy |

OR / atexan
‘Budget is the heart of management.” Comment.

‘FoTE YU 1 259 & Teoqult shifsTe |
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2. ‘The role of District Collector has gone under a metamorphosis from baton of
brutality to agent of social change.” Delineate the role of District Collector in the light
of this statement.

‘TGRSt SIFHRT “SRT ST SUST W SIeTohT AT Ul o sl § SidRd &l T & 17
T FIT h YT H SeTTeshRt st SR T FuT it |

OR / atexan
‘Training is a paid holiday.” In the light of this statement explain the rationale of
training.

“GRTET0T Teh Gold STEehIel [ord & 3 e o YehTeT | UTTeT0T 8hl qehaiTeil ohi SATEAT ShilsU |
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SECTION -1I
Tgug - 11
Note : This section contains three (3) questions from each of the electives/specializations.
The candidate has to choose only one elective/specialization and answer all the three
questions contained therein. Each question carries fifteen (15) marks and is to be
answered in about three hundred (300) words. (3 x 15 = 45 marks)
AT : TH TS T TS UF TohE / foviosiar § o (3) U9 € | 3Tl ol sholol Ush Ufeseh 3hTE /
TorSToITa <l TR ST o T U9-T b1 STR AT & | Uedish U9 U (15) 37ohi o1 & o ST
TR RIS | 6T (300) I1s3T § S7uferd € | (3 x 15 = 45 3i®)

Elective — 1
iew -1
3. ‘The Public Policies in general suffer from implementation lag’. Analyse.

ek =Tt e fharaae § et & ufad & foeeiyor ST |
4. Evaluate the Institutional Arrangements for Policy formulation.
FifeT TET0T & TN SRS T Godich HiteT |
5. Explain the meaning and methods of monitoring and evaluation of Public Policy.
T ATt o TETE T Todish- o 372 g7 Tt s e it |
OR / 3regat

Elective — 11
ufs® - 11
3. ‘The Reservation Policy has failed to produce desired impact in terms of social
justice.” Comment.

STREOT i FrHITSTeR =1 o fE9m  Fifed TTe 3ca=T o § 3T0%e @1 ¢ — feouft shifu |

4, Critically examine the recent innovations in the field of Education in India.
R ¥ 197671 o &3 | SR T Sl THTAETH URIeI0T HifsT |
5. Social welfare and social justice are complimentary to each other. Elaborate.
“HTITSTeR SFHEAToT TN HTHIH =T Uh TEL o YXeh & AT iU |
OR / J¥ar

Elective — I11

ufs® - 111

3. Assess the impact of Liberalization, Privatization and Globalization (LPG) on Public
Enterprises in India.

RA | A% A W IJRIH, 60T T oRelieho] (TA.ALSH.) & T &1 Jodishd
T |

4, ‘Accountability and Autonomy of Public Enterprises are incompatible.” Examine the
statement and suggest suitable solutions.

TR SET i SATARE! T W R o £ | 39 e S qen i a9 Suge
GHE &A=y |
5. Disinvestment policy is both a boon and a bane for Indian Economy. Comment.

TR ST o foTu fafraret =ifd Tk sRgm qer S1iyemg g1 & | fewoht shifse |
OR / 3rerar
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Elective - IV
s -1V

3. The implementation of 74" Constitutional Amendment Act has been characterised by
hesitant and halting approach to devolution. Comment.

749 Higu=-Geme AT & fharaa o faeivdT ediaror & Uid =T el JretHeiel &
gfeeshioT € | feuutt SifsTT |

4, The Gram Sabha is yet to attain the role and status as envisaged under the 73™
Constitutional Amendment Act. Comment.

733 Wiagm-gemes Aaf=d 5 3 T S aRenfeud JiHeR Ud RAfd il U ST 3T off 9y
¢ | feuqoft =it |

5. “State Finance Commissions have failed to deliver the goods.” In the light of this
statement explain their performance.

T2 foret ST 31O 32Vl Rl W W 3TAhet W & | 39 h o WhT9T H 9o Y (oA1G

AT HITT |
OR / Jgar
Elective - V
ifee®s -V
3. Critically examine the Target Group Approach to Rural Development.

TTHIOT TR 5 Ui AT o7 SUTTH ohT GHTCA TSI SR TIeT0T Shifeu |

4, Jawaharlal Nehru National Urban Renewal Mission (JNNURM) has changed the
urban scene. Do you agree ?

STAEREATeT e 9ol 3R Rgarer foer (INNURM) 3 9redt Uiesd i a5t fean g’ | =
3T WA € ?

5. ‘Urban Development should not be at the cost of environmental protection.’
Comment.

I1eX] ferehTe TATeROT TRETUT i ShiFd U 718l 8T =1eT | feoquf shifsu |
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SECTION - I1I
Tug - 111

Note : This section contains nine (9) questions of ten (10) marks, each to be answered in
about fifty (50) words. (9 x 10 = 90 marks)

AT :  TEES § -89 (10-10) 3ih! & At (9) U € | U U ol ST AT T2 (50) 9If
TUAT T | (9 x 10 = 90 37F)

6. Why the gap between public and private administration is narrowing down ?

e T ST T9ITE o o bl @TE T HH B @R 2
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7. “Coordination is the first principle of organisation.” (Mooney and Reiley) Comment.

“gHT TS 1 4 g & (Y7 s ¥ot) | oot ifsw |
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8. Explain the concept of constructive conflict propounded by M.P. Follet.
TH.OY. HIeTe §RT UTAIee YT Tod 3ht STTERUT 3hi AT iU |

0. Explain the Riggsian concept of overlapping.
% il TR AT il STIIROT i SARAT T |
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10. Describe the stratified sampling method.

et e A A A
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11. Differentiate between Department and Directorate.

ToramT e 9Tt o i 37k T ShifeTy |

12. ‘The credibility of State Public Service Commissions has declined.” Comment.

T ek Hall ST bl g H A e 2 | feouft shifey |
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13. Discuss the rationale of establishing three tier system of Federation in India.

ORA | -0 T YOTel! o T3 ol dehgiTaan bl foeie shifeu |
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14. What is ‘new’ in the New Economic Policy ?

TE o7l A & FAr | ?
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SECTION -1V
gug -1V

Note : This section contains five (5) questions of five (5) marks each based on the
following passage. Each question should be answered in about thirty (30) words.

(5 X § =25 marks)

qMe: @ EUS § Efeiad TRess I STEa Uier (5) U9 € | Ucdeh U9 ohl STR o9 ot (30)
YT T STURIT € | TR U9 Ui (5) SR HE | (5 % 5 = 25 37)

Read the passage below, and answer the questions that follow based on your understanding
of the passage :

Performance of civil servants is difficult to measure. This is for a number of reasons,
all related to the measurement of outputs and outcomes. In the private sector, the value of
services provided by a company is determined by the price at which they are sold in the
market. This enables measures of productivity, such as output per worker, to be calculated
rather easily. Since public services are not usually traded in a market, outputs of civil servants
cannot be quantified using prices. A further complication is the distinction between outputs
and outcomes. The performance of the civil service is ideally measured in terms of outcomes,
since these are the primary concern of citizens. But it is often difficult to identify to what
extent these are the result of the outputs produced by civil servants as compared with other,
external, factors. Another complicating factor is the time lag that often exists between
improvements in the quantity and quality of outputs and the outcomes they achieve. As a
result of these difficulties, measurement of the productivity of civil servants has historically
tended to ignore outputs and outcomes. Instead, the focus has been on the magnitude of
inputs used, and increases in expenditure are regarded as equivalent to an identical increase in
output. But, as the experience of several OECD member countries show, such an assumption
is no longer tenable and a great deal of work has now been done in these countries on finding
solutions to these problems and establish performance management systems linked to
measurement of outputs and outcomes.

e <2 T TTRITST R eATYE Ul SR TR i STIT FHET % STMHR W A {58 J9=t ol 3T I :

T aehl & SHTA-TTSITE T HIGH hic € | UET 3k RUT 9 ¢ S8 Tt 1 Hee 3ok et
3R JaT3Tl o ISR (3T32YH) T 3k URUTHT (3T3HT) i A0 9 & | i &3 ot fohadt et
FRT ST TS ST el Tall 1 Goo IR H 3T [0k Yoot a1 Hiud | ST Sl € | T8 Scagehall
A T G ST &, S U HiHh SIS i Ehre o H G et € | ik @ik arst
= TR B ha-Tasha STl 8iaT 37 hiad & 3MER W olich Yahl o AT 9 Jareii & e
(3MM3TYSH) T HIATTG, Fal ohaT ST Fehell | it 31X Warati o e e 3ok afomdi o st 3iae ot
STEEAdT Ul LT € | iich Welehl o hrd (SIS bl 3TIS9T & H GROTHT o & § H1AT ST Hehell € T
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THY ATNERT ST T TRIR BT € | 0] SET I8 T U Shia Biell ¢ foh 372 STel Sifekerall ot ot
4 3 forg T qe oiieh Jarehl o il 3R el @ ufawierd gid € | St SR danet & e
(3M3TYEH) & TOTCH TR HTATHSE IR T 99 U IROMHT  (TRBSHA) o &l I qHG SRS
ST SehwT i SITelT Ueh 3179 A € | §1 hiGTZa! o hIRUT Tileh HaT3TT Shi ScATRehall bt HTOH H it
3R et & Frare qen aiomat o TR SR i Ufdeiias vgi W E | 38 Seel, We e b
AT R AT 6T f§3T ST & T =9 H Sgickl i 38y § THded Sgiasl o s¥eR qH=T STl & | IR
ST TR 37t € W S o 3 TS IR o ST W YR Bie € o 30 YRR ol ¥RV 376 TR Fél 18
TE & A T THTS H FHEH U TAT 3MSSYSH Uel MSTH o AU § S[e! AR Tae
TUNITETT i TN S ol 39 § 3 9 § Sgd 19 &1 @I E |

15. What are the difficulties in measuring the performance of Civil servants as compared
to Private sector ?

T7STt &4 St o1 B Tiich Yaeh o STl FSITE o HIOH | STHETeT ShicATZa! shid T ¢ 2

16. What do you mean by ‘outputs’ and ‘outcomes’ ?

‘SSTYST” AT “TSHTI | TTTHT T ST & ?
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17. What is the difficulty in measuring the performance of the civil servants in terms of
outcomes ?

RO o TRSe H T Saeh! o 1 (TSI o WO | i |l HioTeai & 7

18. Explain the concept of ‘time lag’.
Y A’ Sl FHeIAT i SARAT T |
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19. What steps OECD countries have taken with regard to measurement of performance
of civil servants ?

AT Herehi o T (OIIEH T HIOH e i {20 o 2t 3 | St <30 7 i 4 F3H 33 & ?
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